: 8-32 UNC-2A STUD, 7 STUDS

+.010
.196 -. 005 DIA. HOLE

3.13 4 MTG.
&
8
o
8 o
© .
,;\i o
VENT (LOCATION 10-32 NF-2A STUD
OPTIONAL) / 9 STUDS
1 /]
- = il I
LD | B || B 2
[RERA| RERA) !
\
4 \
=
o o
o
]
L— g
— \/\\ o

HOLES

OPERATING VOLTAGE
COIL
CONTACTS
CONTACT RATING

| B-140V |
REVISIONS RELEASED |
SYM DESCRIPTION DATE APPROVED
M_|38301 |REDRAWN, ADDED FIND NO 14 99/01/27] RS

N |06-000066

ADDED ITEM 15, UPDATED VIEW TO SHOW
PHILLIPS HEAD SCREWS

05/12/19| B

P 111-024834

ITEM 7 WAS -054

11/12/01| c8B

28 VDC
200 VAC, 400 HZ

60 AMPﬁHASE .

MOTOR 40 AMP/PHASE O—a i i —90
CONTACTS T.P.D.T. N.O. L1t i lJ i L1
PICKUP VOLTAGE 18 V. MAX. (HOT) T T
DROPOUT VOLTAGE 7, +0, -5.5 VDC L120O—a ! ! aQL2
COIL CURRENT AT 29 V S e

INITIAL 5.0 AMP 4 4

HOLDING .5 AMP 130— ' i 4~—oOL3
AUX CONTACT SPST N. 0. EACH SIDE ' '

AUX. CONTACT RATING 5 AMP, 28 VDC ! !
MAX. WEIGHT 1 LB. 8 0Z J
NOTES: Y1 Y2 12 X1 X2
1. TOLERANCE ON ALL TERMINAL LENGTHS
TO BE % .06
15 [ 2 51701-310 [WASHER . 203 X . 115 X . 015 MYLAR
14 | 1 39529-001 [OVERLAY-NAME PLATE
13 | 9 51810-054 [NASHER - LOCK No. 10 SPLIT AN935B10 BRONZE
12 [ 7 51808-064 [WASHER - LOCK No. 8 SPLIT AN935B8 BRONZE
11 | 2 51806-031 [WASHER — LOCK NO. 6 INT. TOOTH AN936A6B BRONZE
10 | 9 51712-194 |WASHER- 7/16 X . 203 X . 031 AN961-10 BRASS
9 | 7 51712-104 WASHER- 3/8 X 11/64 X . 032 AN961-8 BRASS
8 | 2 51206641 SCREW-6-32 X 3/4 RD. HD. AN515PB6-12 BRASS
7 |9 50410-174 NUT-10-32 X 5/16 X 9/64 HEX MS35650-305 BRASS
6 | 7 50408-034 NUT-8-32 X 5/16 X 1/8 HEX MS35649-286 BRASS
5 | 1 19390-010 RELAY ASSEMBLY — PRIMARY
4 |1 17985-001 PLATE — BASE COVER
3 |1 16043-001 PLATE — NAME
2 | 1 12771-001 PLATE — WARNING
1 [1 12531-001 SHIELD — TERMINAL
FIND | QTY PART OR NOMENCLATURE OR FSCM DRAWING OR MATERIAL
NO |REQD IDENTIFYING NO DESCRIPTION NO SPECIFICATION OR NOTE
TOLERANCES: -— TE
—
UNLESS OTHERWISE SPECIFIED DI Hart man™ivision 175 N. DIAMOND STREET  MANSFIELD, OHIO 44902
2 PL DEC.|3 PL DEC. JANGLES BHRK ?3: RRLSS 88;8%;;?
.06 [£010 | 1 O Tl 2205284 CONTACTOR — T.P.D. T. N.O.
REF. MF G | MB [99/02 /24 093
VERTOL AO2ES100-5 SIZE | CODE IDENT DWG No.
BENDIX 3B4-1& 1A | C |74063 ‘@5 B-140V
SCALE_NONE [ SHEET REF TE P/N 1-1616043-0




X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for General Purpose Relays category:
Click to view products by TE Connectivity manufacturer:

Other Similar products are found below :

PCN-105D3MH,000 59641F200 LY 1SAC110120 5X827E 5X837F 5X840F 5X842F 5X848E LY2N-AC120 LY2S-AC220/240 LY2-US
AC120 LY3-USAC120 LY4F-UA-DC12 LY4F-UA-DC24 LY4F-US-AC120 LY4F-USAC240 LY4F-US-DC24 LY 4F-VD-AC110
LYQ20DC12 M115C60 M115N010 M115N0150 6031007G 603-12D 61211T0B4 61212T400 61222Q400 61243B600 61243C500
612430Q400 61311BOA2 61311BOA6 61311BOA8 61311C0A2 61311COA1 61311COA6 61311F0A2 61311Q0A1 61311Q0A4
61311T0D6 61311TOA6 61311TOA7 61311TOB3 61311TOB4 61311UOCAG6 61312Q600 613127400 61312T600 61313U200 61313U400



https://www.x-on.com.au/category/electromechanical/relays/general-purpose-relays
https://www.x-on.com.au/manufacturer/teconnectivity
https://www.x-on.com.au/mpn/teconnectivity/pcn105d3mh000
https://www.x-on.com.au/mpn/teconnectivity/59641f200
https://www.x-on.com.au/mpn/omron/ly1sac110120_1
https://www.x-on.com.au/mpn/mecrelays/5x827e
https://www.x-on.com.au/mpn/mecrelays/5x837f
https://www.x-on.com.au/mpn/mecrelays/5x840f
https://www.x-on.com.au/mpn/mecrelays/5x842f
https://www.x-on.com.au/mpn/mecrelays/5x848e
https://www.x-on.com.au/mpn/omron/ly2nac120
https://www.x-on.com.au/mpn/omron/ly2sac220240
https://www.x-on.com.au/mpn/omron/ly2usac120
https://www.x-on.com.au/mpn/omron/ly2usac120
https://www.x-on.com.au/mpn/mecrelays/ly3usac120
https://www.x-on.com.au/mpn/mecrelays/ly4fuadc12
https://www.x-on.com.au/mpn/mecrelays/ly4fuadc24
https://www.x-on.com.au/mpn/omron/ly4fusac120
https://www.x-on.com.au/mpn/mecrelays/ly4fusac240
https://www.x-on.com.au/mpn/mecrelays/ly4fusdc24
https://www.x-on.com.au/mpn/mecrelays/ly4fvdac110
https://www.x-on.com.au/mpn/omron/lyq20dc12
https://www.x-on.com.au/mpn/mecrelays/m115c60
https://www.x-on.com.au/mpn/mecrelays/m115n010
https://www.x-on.com.au/mpn/mecrelays/m115n0150
https://www.x-on.com.au/mpn/teconnectivity/6031007g
https://www.x-on.com.au/mpn/cornelldubilier/60312d
https://www.x-on.com.au/mpn/teconnectivity/61211t0b4
https://www.x-on.com.au/mpn/teconnectivity/61212t400
https://www.x-on.com.au/mpn/teconnectivity/61222q400
https://www.x-on.com.au/mpn/teconnectivity/61243b600
https://www.x-on.com.au/mpn/teconnectivity/61243c500
https://www.x-on.com.au/mpn/teconnectivity/61243q400
https://www.x-on.com.au/mpn/teconnectivity/61311boa2
https://www.x-on.com.au/mpn/teconnectivity/61311boa6
https://www.x-on.com.au/mpn/teconnectivity/61311boa8
https://www.x-on.com.au/mpn/teconnectivity/61311c0a2
https://www.x-on.com.au/mpn/teconnectivity/61311coa1
https://www.x-on.com.au/mpn/teconnectivity/61311coa6
https://www.x-on.com.au/mpn/teconnectivity/61311f0a2
https://www.x-on.com.au/mpn/teconnectivity/61311qoa1
https://www.x-on.com.au/mpn/teconnectivity/61311qoa4
https://www.x-on.com.au/mpn/teconnectivity/61311t0d6
https://www.x-on.com.au/mpn/teconnectivity/61311toa6
https://www.x-on.com.au/mpn/teconnectivity/61311toa7
https://www.x-on.com.au/mpn/teconnectivity/61311tob3
https://www.x-on.com.au/mpn/teconnectivity/61311tob4
https://www.x-on.com.au/mpn/teconnectivity/61311u0a6
https://www.x-on.com.au/mpn/teconnectivity/61312q600
https://www.x-on.com.au/mpn/mecrelays/61312t400
https://www.x-on.com.au/mpn/teconnectivity/61312t600
https://www.x-on.com.au/mpn/teconnectivity/61313u200
https://www.x-on.com.au/mpn/teconnectivity/61313u400

